2150 -02 |
2/12/25




Vvactice Test ZJ

QETTX{HeQ

2g 2A 2
()\ (\ Y — O
dxzjr\jX@jr T

DV E
ocdel L

Not  linead

.

(w3} (prucice Test 3]

@ <, m (oo eqUann

9+ 2Ixy =X




on L = (“/70/00>

SZXAX/ZX:

YYNH*\?M \j+2Xj:X
b\g E)/A(K €><2 +0 96%

2 XZ 2
CYyre 2x Y= XKeE
\ L
2 /
(€™ y9)
o Alx) \/
— pa

(%) = xe






. —i(i C_
— ————F—\Z'L €7§2—
/W\US/ .
| —— =
_ Ly Ce
4= 2
T
-
1 Y

T0nY) Solue the feparablc
ﬁ)m\o[emi

X\ﬁ/: LJ&Q ) 9(\\35






ﬂ: A K »
X
& Dhere A s
0
ConStant

L [
§§\§§j§ e
v \,yf(\)zs (i
, We need

y ﬁ/\x/

9 9




Cinhn-
J ouUJS
edelv——
wWhere




So 11’5 exact,

NQ@J\ F(x) where

%-\} = 5% +4y \@ 6r§£:\v{A
ﬁ:‘—{x—gtﬁg @ %:N

oY |

Jﬂ%brmk @ Wk (es@ac‘r o X

Fx9) = “’>< “+Yxy +C ﬁ

COA(\-U\(\\'
W/ respect To

I\Alreﬁ(mk @ Wit cespect T
Plx,9) = Hxg — 29" 4+ D)



/x+ § + Cly)= 1KY 29+ D (X)

S JrC )’ - 29, D (<)
Z \,,___/
r— ’r 3
C S
Sed C(kjjcvz&j'/ l>(><)~‘:i'>QZ
Ploy (ly) into above:
Q[X)\j\:%x%ﬁxy + Cly)
ElwY) = %_ijrt{?&kj—’zbq
[Angwu |
L )
S 2y = -
| =% {Xj \? C (f(m\:c)

W hece < 1S AN ConStaank







Answer :

. o Ox .

L
(

K X

c©q(@x) c sialex)

TR
\v/4

9, = C, cos(3%) *-ng‘“(gx)l

C\ SJPQQS‘@_ VA \QV\U\/\/

ook Y= € K54 C <
Lo 2 _Sxy'+8y=0D

and \Op’ 3 Tec



sz//—— Sx\j/‘l'g\j:z—\\—[

What's Jhe o9erernl

<Q\\JAY‘;\J\ Yo

sz//_ GXSI%g(ﬁ:Z#

¢




